) AVEIN

ABAHTIIMOL

OLYMPIC PLATE */C1

21avT diokwv @50mm
(Odnyiec Zuvappohdynong | Assembly Instructions)

®

@amila.gr AMILASPORTS

ITEM NO.: 43953 www.amiL3.9r



m SXEAIATPAMMA SYNAPMOAOTHEHE / ASSEMBLY DIAGRAM m

AIZTA EEAPTHMATQN / PARTS LIST

# | TMX MEPIrPA®OH # | PCS DESCRIPTION
1 4  |Zraupokatoafidofidec M8*45 1 4 |Cross head bolts M8*45
2 4 |[PobéNec M8 2 4 |Washers M8

3 4 [Na&iuadia M8 3 4 [Nuts M8

sport
Aiavéperal ané tnv EAAIKO ZIMOP MON. A.E.E.
Distributed by ELDICO SPORT SA
eMail: support@eldico.gr ¢ Web Site: eldico.gr




